QP CODE: 28975

(3 hours) [Total marks: 100
N.B. 1. Attempt any FOUR questions

2. All questions carry equal marks

1. Answer the following

a. What do you mean by revealed preference?

b. Explain the basic assumptions of the Neumann-Morgenstern approach to choice under uncertainty.
2. Comment on

a. Adverse selection

b. Sources of monopoly power

3. Write notes on each of the following

a.Cournot model of oligopoly

b. Stackleberg model

4. What do you mean by asymmetric information ? How does it affect contracts?
5. Discuss the issue of moral hazard. What do you mean by signaling and screening
6. Describe Kaldor's theory of income distribution

7. Write notes on any two :

a. Shephard's lemma

b. Bertrand model

c. externality
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